Consider a wire in the shape of a helix 
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with constant density function . 

A. Determine the mass of the wire: [image: image2.wmf]
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B. Determine the coordinates of the center of mass: ([image: image4.wmf]
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, [image: image6.wmf]
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, [image: image8.wmf]
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C. Determine the moment of inertia about the z-axis: [image: image10.wmf]
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Note: If a wire with linear density [image: image12.png]plr,y, z)



lies along a space curve [image: image13.png]


, its moment of inertia about the z-axis is defined by [image: image14.png]2+ y?)plx,y, 2)ds
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